(ZEHR]

R (REEEHE)

LB
- miR

CBER (REXIME)
- ERARRE (R AR

CE=RETE (RBR)
 RIFEEK™

: 20ha

:1,200m x 30m

: 10658 (8:00~18:00)

[inE]
B4 1E HARE
(& XEE]
MNEE 125 & 135 & 145 & 155 &
=] & 0 0 0 0 0
EEEH(N) ERN 8,967 9,858 31,114 29,776 28,901
&i 8,967 9,858 31,114 29,776 28,901
=] & 0 0 0 0 0
BEYRikE (L) ESf 0 0 0 0 0
& &t 0 0 0 0 0
=] & 0 0 0 0 0
& e [E] %k (=) ERN 1,445 1,612 1,982 1,328 1,075
= 1,445 1,612 1,982 1,328 1,075
XEFBRERETHICE, EATEESD
XEEOHE. EERBOBLR2ETHS
XEXCTERRAFAE (BLRBEMER) &V




